INVITATION FOR BID SUMMARY REPORT

AND AWARD RECOMMENDATION

Date: April 8, 2015

Bid Number and Title: IFB 15-09 Westbriar Drive Sidewalk Construction

Bid Opening Date and Time: April 8, 2015, 11:00 AM

Bids Opened by: Gina Gilpin, Purchasing Agent

Witnessed by: Mike Gallagher, Deputy Director of Public Works

Total Bids Received: Five (5)

Bids were received from five (5) vendors for the subject IFB. The results of the bids are detailed on the Bid Tabulation, attached.

Sagres Construction was the low bidder with a total bid amount of **\$297,525.76**. Sagres Construction has been determined to be a responsive and responsible bidder.

Award is recommended to be made to:

Sagres Construction Corporation 8350 Terminal Road, Suite A Lorton, VA 22079

In the amount of **\$297,525.76**.

Bid Open	9 Westbriar Drive Sidewalk Construction ing Date 4/8/15 11:00 AM y Gina Gilpin Witnessed by Mike Gallagher			Sagres Constructi 8350 Terminal Ro Lorton, VA 22079	oad Ste A	A&M Concrete Co 43760 Trade Cen Dulles, VA 20188		Jeffery Stack, Inc. PO Box 280 Jersey, VA 22481	
Item	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1	MOBILIZATION/CONSTR. SCHEDULING	LS	1	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$28,000.00	\$28,000.00
2	CONSTRUCTION SURVEYING	LS	1	\$5,000.00	\$5,000.00	\$7,100.00	\$7,100.00	\$21,000.00	\$21,000.00
3	CLEARING AND GRUBBING	SY	1000	\$1.50	\$1,500.00	\$3.00	\$3,000.00	\$6.00	\$6,000.00
4	REGULAR EXCAVATION	CY	360	\$40.00	\$14,400.00	\$28.00	\$10,080.00	\$34.00	\$12,240.00
5	EXCESS CUT TO BE DISPOSED (HAUL AWAY)	СҮ	300	\$5.00	\$1,500.00	\$30.00	\$9,000.00	\$28.00	\$8,400.00
6	ASPHALT CONCRETE TY. SM-9.5A OR SM- 9.5D	TON	127	\$175.00	\$22,225.00	\$170.00	\$21,590.00	\$190.00	\$24,130.00
7	ASPHALT CONCRETE TY. IM-19.0A	TON	23	\$290.00	\$6,670.00	\$170.00	\$3,910.00	\$225.00	\$5,175.00
8	ASPHALT CONCRETE BASE TY. BM-25.0A	TON	26	\$290.00	\$7,540.00	\$170.00	\$4,420.00	\$225.00	\$5,850.00
9	AGGREGATE BASE MATL. TY. I NO. 21A	TON	160	\$30.00	\$4,800.00	\$45.00	\$7,200.00	\$45.00	\$7,200.00
10	AGGREGATE BASE MATL. TY. I NO. 21B	TON	199	\$30.00	\$5,970.00	\$45.00	\$8,955.00	\$35.00	\$6,965.00
	FLEXIBLE PAVEMENT PLANING (MILLING								
11	-2")	SY	2069	\$0.50	\$1,034.50	\$6.00	\$12,414.00	\$7.00	\$14,483.00
12	MOD. CURB CG-2 AT BACK OF SIDEWALK	LS	122	\$30.00	\$3,660.00	\$32.00	\$3,904.00	\$20.00	\$2,440.00
13	MOD. COMB. CURB AND GUTTER CG-6	LF	625	\$35.00	\$21,875.00	\$25.00	\$15,625.00	\$23.00	\$14,375.00
14	MOD. RAD. COMB. CURB AND GUTTER CG-								
14	6	LF	200	\$35.00	\$7,000.00	\$30.00	\$6,000.00	\$23.00	\$4,600.00
15	CG-12 DETECTABLE WARNING SURFACE	SY	4	\$195.00	\$780.00	\$300.00	\$1,200.00	\$275.00	\$1,100.00
16	HYDR. CEMENT CONC. SIDEWALK 4"	SY	531	\$65.00	\$34,515.00	\$38.00	\$20,178.00	\$45.00	\$23,895.00
17	HYDR. CEMENT CONC. (CG-12) SAWCUT HYDRAULIC CEMENT	SY	51	\$70.00	\$3,570.00	\$50.00	\$2,550.00	\$45.00	\$2,295.00
18	CONCRETE ITEMS	LF	29	\$4.00	\$116.00	\$5.00	\$145.00	\$12.00	\$348.00
19	SAWCUT PAVEMENT	LF	947	\$4.00	\$3,788.00	\$2.00	\$1,894.00	\$5.00	\$4,735.00
20	ST'D FE-CL (6') (FABRICATED BLACK IN COLOR, BRACES REQ'D.)	LF	250	\$45.00	\$11,250.00	\$30.00	\$7,500.00	\$29.00	\$7,250.00
21	ST'D 12' FE-CL DBL GATE (FABRICATED BLACK IN COLOR)	EA	1	\$2,950.00	\$2,950.00	\$1,600.00	\$1,600.00	\$2,000.00	\$2,000.00
22	STD CG-9B	SY	49	\$85.00	\$4,174.44	\$120.00	\$5,893.33	\$95.00	\$4,665.56
23	ST'D MH-1 OR 2	LF	5	\$1,250.00	\$6,625.00	\$2,100.00	\$11,130.00	\$550.00	\$2,915.00
24 25	FRAME & COVER FOR MH-1 OR 2 PIPE - 15" RCP	EA LF	1 62	\$500.00 \$150.00	\$500.00 \$9,300.00	\$550.00 \$220.00	\$550.00 \$13,640.00	\$550.00 \$124.00	\$550.00 \$7,688.00
	DROP INLET DI-3B 10'								
26 27	REMOVE EX. DROP INLET	EA EA	1	\$6,500.00 \$500.00	\$6,500.00 \$500.00	\$7,200.00 \$1,350.00	\$7,200.00 \$1,350.00	\$4,500.00 \$1,000.00	\$4,500.00 \$1,000.00
	REPLACE ST'D 6' DI-3B STRUCTURE TOP								\$3,000.00
28		EA	1	\$2,000.00	\$2,000.00	\$3,200.00	\$3,200.00	\$3,000.00	
29	ALLAYING DUST	HR	50	\$5.00	\$250.00	\$10.00	\$500.00	\$65.00	\$3,250.00
30	MAINTENANCE OF TRAFFIC DEMOLITION (& HAUL AWAY) OF	LS	1	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$29,000.00	\$29,000.00
31	PAVEMENT (FLEXIBLE)	SY	494	\$10.00	\$4,940.00	\$12.00	\$5,928.00	\$8.00	\$3,952.00
32	DEMOLITION (& HAUL AWAY) OF CONC. APRON/SIDEWALK	SY	48.597	\$10.00	\$485.97	\$34.00	\$1,652.28	\$10.00	\$485.97
33	REMOVE EX. 15" RCP	LF	77	\$20.00	\$1,536.00	\$38.00	\$2,918.40	\$34.00	\$2,611.20
34	REMOVE & DISPOSE FE-CL	LF	225	\$5.00	\$1,127.15	\$4.00	\$901.72	\$4.00	\$901.72
35	REMOVE & DISPOSE GUARDRAIL	LF	140	\$10.00	\$1,395.30	\$7.00	\$976.71	\$3.00	\$418.59
36	GUTTER	LF	827	\$7.50	\$6,202.50	\$6.00	\$4,962.00	\$8.00	\$6,616.00
37	TOP SOIL CL. A 2"	SY	742	\$2.50	\$1,854.65	\$4.00	\$2,967.44	\$3.00	\$2,225.58
38	SOD	SY	742	\$7.50	\$5,563.95	\$6.00	\$4,451.16	\$6.00	\$4,451.16
39	NS TREE REMOVAL	EA	11	\$750.00	\$8,250.00	\$950.00	\$10,450.00	\$450.00	\$4,950.00
40	INLET PROTECTION (TY. B)	EA	3	\$225.00	\$675.00	\$285.00	\$855.00	\$300.00	\$900.00

41	TREE PROTECTION	EA	19	\$100.00	\$1,900.00	\$135.00	\$2,565.00	\$100.00	\$1,900.00
42	SILT FENCE	LF	457	\$3.50	\$1,599.50	\$5.00	\$2,285.00	\$3.00	\$1,371.00
43	SERVICEBERRY TREES [10' Height] - FOR TM #039-1-02-002A (#900 Maple Ave. E.)	EA	5	\$325.00	\$1,625.00	\$245.00	\$1,225.00	\$350.00	\$1,750.00
44	EVERGREEN TREES [12' Height] - FOR TM #039-1-02-002 (#800 Maple Ave E.)	EA	12	\$425.00	\$5,100.00	\$400.00	\$4,800.00	\$450.00	\$5,400.00
45	MAINTENANCE OF TREES (ON TOWN PROPERTY ONLY)	LS	1	\$3,000.00	\$3,000.00	\$1,200.00	\$1,200.00	\$5,000.00	\$5,000.00
46	TREES - 2" CALIPER MIN.	EA	18	\$225.00	\$4,050.00	\$250.00	\$4,500.00	\$400.00	\$7,200.00
47	MISC. LANDSCAPING (DISCRECTION OF TOWN)	LS	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
48	CONC. FOUNDATION STP-1	EA	13	\$175.00	\$2,275.00	\$300.00	\$3,900.00	\$300.00	\$3,900.00
49	RELOC. EXIST. SIGN STR. TY. VA	EA	1	\$250.00	\$250.00	\$375.00	\$375.00	\$300.00	\$300.00
50	2" STP-1 POST (BREAKWAY METAL POST)	LF	182	\$15.00	\$2,730.00	\$16.00	\$2,912.00	\$12.00	\$2,184.00
51	REMOVE EXIST. SIGN STRUCTURE/FOUND.	EA	2	\$125.00	\$250.00	\$225.00	\$450.00	\$500.00	\$1,000.00
52	SIGNS PANEL	SF	95	\$35.00	\$3,325.00	\$32.00	\$3,040.00	\$34.00	\$3,230.00
53	INSTALL SIGN	EA	18	\$100.00	\$1,800.00	\$65.00	\$1,170.00	\$300.00	\$5,400.00
54	4" PAVEMENT MARKING TY. B CLASS VI - YELLOW	LF	2772	\$5.00	\$13,858.10	\$4.00	\$11,086.48	\$4.00	\$11,086.48
55	6" PAVEMENT MARKING TY. B CLASS VI - WHITE	LF	568	\$6.00	\$3,408.36	\$6.00	\$3,408.36	\$6.00	\$3,408.36
56	24" PAVEMENT MARKING TY. B CLASS VI - WHITE	LF	111	\$16.50	\$1,831.34	\$24.00	\$2,663.76	\$25.00	\$2,774.75
57	ERADICATION OF EXISTING PAVEMENT MARKING (PER 6" WIDTH)	LF	1000	\$2.50	\$2,500.00	\$2.00	\$2,000.00	\$3.00	\$3,000.00
58	NS RESET EXIST. GUY WIRE	EA	1	\$500.00	\$500.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00
59	NS RESET VALVES	EA	2	\$250.00	\$500.00	\$450.00	\$900.00	\$900.00	\$1,800.00
	TOTAL				\$297,525.76		\$318,071.65		\$354,266.36

	Westbriar Drive Sidewalk Construction ng Date 4/8/15 11:00 AM Gina Gilpin Witnessed by Mike Gallagher	Fort Myer Constr 2237 33rd Street Washington, DC 2	NE	Anchor Construction Corp 2254 25th Place NE Washington, DC 20018			
Item	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	MOBILIZATION/CONSTR. SCHEDULING	LS	1	\$26,880.00	\$26,880.00	\$25,000.00	\$25,000.0
	CONSTRUCTION SURVEYING	LS	1	\$4,500.00	\$4,500.00	\$6,500.00	\$6,500.0
	CLEARING AND GRUBBING REGULAR EXCAVATION	SY CY	1000 360	\$4.00 \$43.00	\$4,000.00 \$15,480.00	\$5.00 \$45.00	\$5,000.0 \$16,200.0
-	EXCESS CUT TO BE DISPOSED (HAUL	CI	300	\$43.00	\$13,400.00	\$43.00	\$10,200.0
5	AWAY) ASPHALT CONCRETE TY. SM-9.5A OR SM-	СҮ	300	\$43.00	\$12,900.00	\$65.00	\$19,500.0
	9.5D	TON	127	\$130.50	\$16,573.50	\$200.00	\$25,400.0
7	ASPHALT CONCRETE TY. IM-19.0A	TON	23	\$141.00	\$3,243.00	\$200.00	\$4,600.
8	ASPHALT CONCRETE BASE TY. BM-25.0A	TON	26	\$149.25	\$3,880.50	\$200.00	\$5,200.0
9	AGGREGATE BASE MATL. TY. I NO. 21A	TON	160	\$38.50	\$6,160.00	\$80.00	\$12,800.0
	AGGREGATE BASE MATL. TY. I NO. 21B	TON	199	\$38.50	\$7,661.50	\$80.00	\$15,920.0
	FLEXIBLE PAVEMENT PLANING (MILLING -2")	SY	2069	\$5.50	\$11,379.50	\$10.00	\$20,690.0
12	MOD. CURB CG-2 AT BACK OF SIDEWALK	LS	122	\$31.50	\$3,843.00	\$35.00	\$4,270.0
13	MOD. COMB. CURB AND GUTTER CG-6	LF	625	\$27.75	\$17,343.75	\$48.00	\$30,000.0
	MOD. RAD. COMB. CURB AND GUTTER CG- 6	LF	200	\$27.75	\$5,550.00	\$55.00	\$11,000.
15	CG-12 DETECTABLE WARNING SURFACE	SY	4	\$1,000.00	\$4,000.00	\$150.00	\$600.
-	HYDR. CEMENT CONC. SIDEWALK 4"	SY	531	\$46.00	\$24,426.00	\$49.00	\$26,019.
	HYDR. CEMENT CONC. (CG-12)	SY	51	\$61.00	\$3,111.00	\$70.00	\$3,570.
	SAWCUT HYDRAULIC CEMENT CONCRETE ITEMS	LF	29	\$10.00	\$290.00	\$12.00	\$348.
	SAWCUT PAVEMENT	LF	947	\$10.00	\$4,735.00	\$12.00	\$4,735.
-	ST'D FE-CL (6') (FABRICATED BLACK IN	ш	517	\$3.00	φ1,735.00	φ3.00	ψ1,755.
	COLOR, BRACES REQ'D.) ST'D 12' FE-CL DBL GATE (FABRICATED	LF	250	\$35.65	\$8,912.50	\$100.00	\$25,000.
	BLACK IN COLOR)	EA	1	\$1,437.50	\$1,437.50	\$800.00	\$800.
	STD CG-9B	SY	49	\$123.50	\$6,065.22	\$100.00	\$4,911.
	ST'D MH-1 OR 2 FRAME & COVER FOR MH-1 OR 2	LF EA	5	\$1,165.75 \$1,200.00	\$6,178.48	\$1,200.00 \$500.00	\$6,360. \$500.
	PIPE - 15" RCP	LF	62	\$1,200.00	\$1,200.00 \$14,663.00	\$120.00	\$500.
	DROP INLET DI-3B 10'	EA	1	\$7,323.50	\$14,003.00	\$120.00	\$7,440. \$8,500.
	REMOVE EX. DROP INLET	EA	1	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200
28	REPLACE ST'D 6' DI-3B STRUCTURE TOP	EA	1	\$5,458.50	\$5,458.50	\$2,500.00	\$2,500.
	ALLAYING DUST	HR	50	\$88.75	\$4,437.50	\$90.00	\$4,500.
	MAINTENANCE OF TRAFFIC	LS	1	\$43,049.00	\$43,049.00	\$25,000.00	\$25,000.
	DEMOLITION (& HAUL AWAY) OF PAVEMENT (FLEXIBLE)	SY	494	\$18.75	\$9,262.50	\$20.00	\$9,880.
	DEMOLITION (& HAUL AWAY) OF CONC.						
-	APRON/SIDEWALK	SY	48.597	\$18.25	\$886.89	\$30.00	\$1,457
	REMOVE EX. 15" RCP REMOVE & DISPOSE FE-CL	LF	77	\$128.50	\$9,868.80	\$50.00	\$3,840
	REMOVE & DISPOSE FE-CL REMOVE & DISPOSE GUARDRAIL	LF LF	225 140	\$3.45 \$4.03	\$777.73 \$562.31	\$25.00 \$20.00	\$5,635 \$2,790
	DEMO (& HAUL AWAY) EX. CURB &	ы	140	ψ1.05	\$502.51	\$20.00	φ2,7 70
	GUTTER	LF	827	\$10.50	\$8,683.50	\$7.00	\$5,789
	TOP SOIL CL. A 2"	SY	742	\$3.60	\$2,670.70	\$10.00	\$7,418
	SOD	SY	742	\$4.25	\$3,152.91	\$10.00	\$7,418
	NS TREE REMOVAL INLET PROTECTION (TY. B)	EA	11	\$900.00	\$9,900.00	\$500.00	\$5,500
	TREE PROTECTION (TY. B)	EA EA	3 19	\$350.00 \$350.00	\$1,050.00 \$6,650.00	\$200.00 \$100.00	\$600 \$1,900
	SILT FENCE	LF	457	\$350.00	\$6,650.00	\$100.00	\$1,900
:	SERVICEBERRY TREES [10' Height] - FOR						
	TM #039-1-02-002A (#900 Maple Ave. E.)	EA	5	\$281.25	\$1,406.25	\$2,000.00	\$10,000
	EVERGREEN TREES [12' Height] - FOR TM #039-1-02-002 (#800 Maple Ave E.)	EA	12	\$562.50	\$6,750.00	\$2,100.00	\$25,200
	MAINTENANCE OF TREES (ON TOWN			#1 < 0 < 0 < 1	#1 < 0 < 0 = 0	AF 000 00	A
	PROPERTY ONLY) TREES - 2" CALIPER MIN.	LS EA	1 18	\$16,000.00 \$231.25	\$16,000.00 \$4,162.50	\$5,000.00 \$250.00	\$5,000 \$4,500
	MISC. LANDSCAPING (DISCRECTION OF	ĽА	18	\$231.25	\$4,162.50	\$250.00	\$4,500
	TOWN)	LS	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,

						-	
48	CONC. FOUNDATION STP-1	EA	13	\$1,750.00	\$22,750.00	\$650.00	\$8,450.00
49	RELOC. EXIST. SIGN STR. TY. VA	EA	1	\$2,500.00	\$2,500.00	\$300.00	\$300.00
	2" STP-1 POST (BREAKWAY METAL						
50	POST)	LF	182	\$100.00	\$18,200.00	\$45.00	\$8,190.00
	REMOVE EXIST. SIGN						
51	STRUCTURE/FOUND.	EA	2	\$1,500.00	\$3,000.00	\$300.00	\$600.00
52	SIGNS PANEL	SF	95	\$45.00	\$4,275.00	\$45.00	\$4,275.00
53	INSTALL SIGN	EA	18	\$750.00	\$13,500.00	\$100.00	\$1,800.00
	4" PAVEMENT MARKING TY. B CLASS VI -						
54	YELLOW	LF	2772	\$4.54	\$12,583.15	\$5.50	\$15,243.91
	6" PAVEMENT MARKING TY. B CLASS VI -						
55	WHITE	LF	568	\$5.69	\$3,232.26	\$10.00	\$5,680.60
	24" PAVEMENT MARKING TY. B CLASS VI -						
56	WHITE	LF	111	\$15.24	\$1,691.49	\$24.00	\$2,663.76
	ERADICATION OF EXISTING PAVEMENT						
57	MARKING (PER 6" WIDTH)	LF	1000	\$2.30	\$2,300.00	\$5.00	\$5,000.00
58	NS RESET EXIST. GUY WIRE	EA	1	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
59	NS RESET VALVES	EA	2	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00
	TOTAL				\$452,325.93		\$485,766.83